

## **Summary of Bids Received**

**Project:** Washington Street Channel Restoration

**Section:** 16-00110-14-DR

**Description:** Gabion Installation, Erosion Control

**CPMS Pin:** B-01264 **Let Date:** 6/19/2018

| Bidder                        | Address                | City, State, Zip             | Bond     | Bid Price            | % Over/Under<br>Eng. Estimate | \$ Over/Under Eng.<br>Estimate |
|-------------------------------|------------------------|------------------------------|----------|----------------------|-------------------------------|--------------------------------|
| Copenhaver Construction       | 75 Koppie Dr.          | Gilberts, IL 60136           | Bid Bond | \$191,697.00         | -40.10%                       | -\$128,331.52                  |
| V3 Construction               | 7325 Janes Ave.        | Woodridge, IL 60517          | Bid Bond | \$199,895.00         | -37.54%                       | -\$120,133.52                  |
| Campanella & Sons, Inc.       | 39207 N Magnetics Blvd | Wadsworth, IL 60083          | Bid Bond | \$200,395.70         | -37.38%                       | -\$119,632.82                  |
| Kovolic Construction Co.      | 3721 N. Carnation      | Franklin Park, IL 60131-0939 | Bid Bond | \$308,640.00         | -3.56%                        | -\$11,388.52                   |
| Alliance Contractors, Inc.    | 1166 Lake Avenue       | Woodstock, IL 60098          | Bid Bond | \$327,129.60         | 2.22%                         | \$7,101.08                     |
| Berger Excavating Contractors | 1205 Garland Road      | Wauconda, IL 60084           | Bid Bond | \$657,840.00         | 105.56%                       | \$337,811.48                   |
| Engineer's Estimate           |                        |                              |          | \$320,028.52         |                               |                                |
| Design                        | IDOT(2)                | Contract Bidder              |          | SES then Plan Rack   |                               |                                |
| Finance                       | Bid Tab File           | Resident Eng.                | _        | Administrative Assis | stant                         |                                |
| Construction                  | Project File           | Request By Mail              |          | Mgr Capital Program  | mming                         |                                |
|                               |                        |                              |          |                      |                               |                                |
|                               |                        |                              |          |                      |                               |                                |
|                               |                        |                              |          |                      |                               |                                |



## **Return Bid Tabulation**

Project: Washington Street Channel Restoration

Section: 16-00110-14-DR

**Description:** Gabion Installation, Erosion Control

CPMS Pin: B-01264 Let Date: 6/19/2018

| Item No. | Pay Code   | Description                                                             | Quantity | Unit  | Eng Estir   | nate         | Alliance Cont | ractors, Inc. | Berger Excavating Contractors |              | Campanella & Sons, Inc. |              | Kovolic Construction Co. |              | Co. V3 Construction |              | Copenhaver Construction |              |
|----------|------------|-------------------------------------------------------------------------|----------|-------|-------------|--------------|---------------|---------------|-------------------------------|--------------|-------------------------|--------------|--------------------------|--------------|---------------------|--------------|-------------------------|--------------|
|          |            |                                                                         |          |       | Unit Price  | Extnd. Price | Unit Price    | Extnd. Price  | Unit Price                    | Extnd. Price | Unit Price Extnd. Price |              | Unit Price               | Extnd. Price | Unit Price          | Extnd. Price | Unit Price              | Extnd. Price |
| 1        | 20100110 T | TREE REMOVAL (6 TO 15 UNITS DIAMETER)                                   | 8.0      | UNIT  | \$150.00    | \$1,200.00   | \$75.00       | \$600.00      | \$250.00                      | \$2,000.00   | \$200.00                | \$1,600.00   | \$250.00                 | \$2,000.00   | \$100.00            | \$800.00     | \$50.00                 | \$400.00     |
| 2        | 20200100 E | EARTH EXCAVATION                                                        | 278.0    | CU YD | \$45.00     | \$12,510.00  | \$50.00       | \$13,900.00   | \$65.00                       | \$18,070.00  | \$119.50                | \$33,221.00  | \$100.00                 | \$27,800.00  | \$50.00             | \$13,900.00  | \$39.00                 | \$10,842.00  |
| 3        | 20900110 P | POROUS GRANULAR BACKFILL                                                | 82.0     | CU YD | \$75.00     | \$6,150.00   | \$40.00       | \$3,280.00    | \$130.00                      | \$10,660.00  | \$105.00                | \$8,610.00   | \$100.00                 | \$8,200.00   | \$110.00            | \$9,020.00   | \$45.00                 | \$3,690.00   |
| 4        | 28100205 S | STONE RIPRAP, CLASS A3                                                  | 56.0     | TON   | \$70.00     | \$3,920.00   | \$270.00      | \$15,120.00   | \$350.00                      | \$19,600.00  | \$146.50                | \$8,204.00   | \$100.00                 | \$5,600.00   | \$150.00            | \$8,400.00   | \$85.00                 | \$4,760.00   |
| 5        | 28400100   | GABIONS                                                                 | 216.0    | CU YD | \$450.00    | \$97,200.00  | \$800.00      | \$172,800.00  | \$600.00                      | \$129,600.00 | \$236.00                | \$50,976.00  | \$500.00                 | \$108,000.00 | \$280.00            | \$60,480.00  | \$440.00                | \$95,040.00  |
| 6        | 50201101   | COFFERDAM (TYPE 1) (LOCATION - 1)                                       | 1.0      | EACH  | \$30,000.00 | \$30,000.00  | \$5,000.00    | \$5,000.00    | \$80,000.00                   | \$80,000.00  | \$7,000.00              | \$7,000.00   | \$18,000.00              | \$18,000.00  | \$9,116.00          | \$9,116.00   | \$1,500.00              | \$1,500.00   |
| 7        | 50201102   | COFFERDAM (TYPE 1) (LOCATION - 2)                                       | 1.0      | EACH  | \$30,000.00 | \$30,000.00  | \$5,000.00    | \$5,000.00    | \$65,000.00                   | \$65,000.00  | \$7,000.00              | \$7,000.00   | \$13,500.00              | \$13,500.00  | \$8,000.00          | \$8,000.00   | \$1,500.00              | \$1,500.00   |
| 8        | 50201103   | COFFERDAM (TYPE 1) (LOCATION - 3)                                       | 1.0      | EACH  | \$30,000.00 | \$30,000.00  | \$5,000.00    | \$5,000.00    | \$135,000.00                  | \$135,000.00 | \$14,000.00             | \$14,000.00  | \$34,500.00              | \$34,500.00  | \$18,098.00         | \$18,098.00  | \$1,500.00              | \$1,500.00   |
| 9        | 50201104   | COFFERDAM (TYPE 1) (LOCATION - 4)                                       | 1.0      | EACH  | \$30,000.00 | \$30,000.00  | \$5,000.00    | \$5,000.00    | \$46,000.00                   | \$46,000.00  | \$6,500.00              | \$6,500.00   | \$10,500.00              | \$10,500.00  | \$6,000.00          | \$6,000.00   | \$1,500.00              | \$1,500.00   |
| 10       | 50201105   | COFFERDAM (TYPE 1) (LOCATION - 5)                                       | 1.0      | EACH  | \$30,000.00 | \$30,000.00  | \$5,000.00    | \$5,000.00    | \$46,000.00                   | \$46,000.00  | \$6,500.00              | \$6,500.00   | \$10,500.00              | \$10,500.00  | \$6,000.00          | \$6,000.00   | \$1,500.00              | \$1,500.00   |
| 11       | 63200310   | GUARDRAIL REMOVAL                                                       | 27.0     | FOOT  | \$10.00     | \$270.00     | \$20.00       | \$540.00      | \$35.00                       | \$945.00     | \$45.50                 | \$1,228.50   | \$25.00                  | \$675.00     | \$17.00             | \$459.00     | \$8.00                  | \$216.00     |
| 12       |            | TREE, JUGLANS NIGRA (BLACK WALNUT), 2"<br>CALIPER, BALLED AND BURLAPPED | 3.0      | EACH  | \$500.00    | \$1,500.00   | \$680.00      | \$2,040.00    | \$680.00                      | \$2,040.00   | \$700.00                | \$2,100.00   | \$1,000.00               | \$3,000.00   | \$630.00            | \$1,890.00   | \$700.00                | \$2,100.00   |
| 13       | LC200051 F | REJECTED LOAD TRANSPORTATION                                            | 5.0      | LOAD  | \$500.00    | \$2,500.00   | \$500.00      | \$2,500.00    | \$480.00                      | \$2,400.00   | \$600.00                | \$3,000.00   | \$250.00                 | \$1,250.00   | \$980.00            | \$4,900.00   | \$50.00                 | \$250.00     |
| 14       | LC200501   | MAINTENANCE OF TEMPORARY EROSION<br>CONTROL SYSTEMS                     | 1,145.0  | UNIT  | \$1.00      | \$1,145.00   | \$1.00        | \$1,145.00    | \$1.00                        | \$1,145.00   | \$1.00                  | \$1,145.00   | \$1.00                   | \$1,145.00   | \$1.00              | \$1,145.00   | \$1.00                  | \$1,145.00   |
| 15       | LC200511   | VEGETATED CONCRETE EROSION CONTROL<br>MAT                               | 1,427.0  | SQ FT | \$10.00     | \$14,270.00  | \$50.00       | \$71,350.00   | \$20.00                       | \$28,540.00  | \$14.00                 | \$19,978.00  | \$25.00                  | \$35,675.00  | \$22.00             | \$31,394.00  | \$10.00                 | \$14,270.00  |
| 16       | X0426200 E | DEWATERING                                                              | 1.0      | L SUM | \$15,000.00 | \$15,000.00  | \$10,000.00   | \$10,000.00   | \$25,000.00                   | \$25,000.00  | \$11,000.00             | \$11,000.00  | \$5,000.00               | \$5,000.00   | \$10,585.00         | \$10,585.00  | \$3,000.00              | \$3,000.00   |
| 17       | X2840105 G | GABION REMOVAL                                                          | 8.0      | CU YD | \$250.00    | \$2,000.00   | \$50.00       | \$400.00      | \$400.00                      | \$3,200.00   | \$200.00                | \$1,600.00   | \$200.00                 | \$1,600.00   | \$50.00             | \$400.00     | \$160.00                | \$1,280.00   |
| 18       | X/010216   | TRAFFIC CONTROL AND PROTECTION,<br>(SPECIAL)                            | 1.0      | L SUM | \$6,253.52  | \$6,253.52   | \$2,500.00    | \$2,500.00    | \$35,000.00                   | \$35,000.00  | \$10,000.00             | \$10,000.00  | \$20,000.00              | \$20,000.00  | \$6,500.00          | \$6,500.00   | \$45,500.00             | \$45,500.00  |
| 19       | XX006343 S | SEEDING (COMPLETE)                                                      | 229.0    | SQ YD | \$25.00     | \$5,725.00   | \$22.40       | \$5,129.60    | \$30.00                       | \$6,870.00   | \$25.80                 | \$5,908.20   | \$5.00                   | \$1,145.00   | \$9.50              | \$2,175.50   | \$6.00                  | \$1,374.00   |
| 20       | Z0055905 T | TEMPORARY CONSTRUCTION FENCE                                            | 110.0    | FOOT  | \$3.50      | \$385.00     | \$7.50        | \$825.00      | \$7.00                        | \$770.00     | \$7.50                  | \$825.00     | \$5.00                   | \$550.00     | \$5.75              | \$632.50     | \$3.00                  | \$330.00     |
|          |            | Bid Total                                                               |          |       |             | \$320,028.52 |               | \$327,129.60  |                               | \$657,840.00 |                         | \$200,395.70 |                          | \$308,640.00 |                     | \$199,895.00 |                         | \$191,697.00 |



## **Return Bid Details**

**Project:** Washington Street Channel Restoration

**Section:** 16-00110-14-DR

**Description:** Gabion Installation, Erosion Control

**CPMS Pin:** B-01264 **Let Date:** 6/19/2018

|          |          |                                                                         |          |       | Eng Estimate |              |                |                |                |
|----------|----------|-------------------------------------------------------------------------|----------|-------|--------------|--------------|----------------|----------------|----------------|
| Item No. | Pay Code | Description                                                             | Quantity | Unit  | Unit Price   | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|          |          |                                                                         |          |       |              |              |                |                |                |
| 1        | 20100110 | TREE REMOVAL (6 TO 15 UNITS DIAMETER)                                   | 8.0      | UNIT  | \$150.00     | \$1,200.00   | \$50.00        | \$250.00       | \$154.17       |
| 2        | 20200100 | EARTH EXCAVATION                                                        | 278.0    | CU YD | \$45.00      | \$12,510.00  | \$39.00        | \$119.50       | \$70.58        |
| 3        | 20900110 | POROUS GRANULAR BACKFILL                                                | 82.0     | CU YD | \$75.00      | \$6,150.00   | \$40.00        | \$130.00       | \$88.33        |
| 4        | 28100205 | STONE RIPRAP, CLASS A3                                                  | 56.0     | TON   | \$70.00      | \$3,920.00   | \$85.00        | \$350.00       | \$183.58       |
| 5        | 28400100 | GABIONS                                                                 | 216.0    | CU YD | \$450.00     | \$97,200.00  | \$236.00       | \$800.00       | \$476.00       |
| 6        | 50201101 | COFFERDAM (TYPE 1) (LOCATION - 1)                                       | 1.0      | EACH  | \$30,000.00  | \$30,000.00  | \$1,500.00     | \$80,000.00    | \$20,102.67    |
| 7        | 50201102 | COFFERDAM (TYPE 1) (LOCATION - 2)                                       | 1.0      | EACH  | \$30,000.00  | \$30,000.00  | \$1,500.00     | \$65,000.00    | \$16,666.67    |
| 8        | 50201103 | COFFERDAM (TYPE 1) (LOCATION - 3)                                       | 1.0      | EACH  | \$30,000.00  | \$30,000.00  | \$1,500.00     | \$135,000.00   | \$34,683.00    |
| 9        | 50201104 | COFFERDAM (TYPE 1) (LOCATION - 4)                                       | 1.0      | EACH  | \$30,000.00  | \$30,000.00  | \$1,500.00     | \$46,000.00    | \$12,583.33    |
| 10       | 50201105 | COFFERDAM (TYPE 1) (LOCATION - 5)                                       | 1.0      | EACH  | \$30,000.00  | \$30,000.00  | \$1,500.00     | \$46,000.00    | \$12,583.33    |
| 11       | 63200310 | GUARDRAIL REMOVAL                                                       | 27.0     | FOOT  | \$10.00      | \$270.00     | \$8.00         | \$45.50        | \$25.08        |
| 12       | A2005116 | TREE, JUGLANS NIGRA (BLACK WALNUT), 2"<br>CALIPER, BALLED AND BURLAPPED | 3.0      | EACH  | \$500.00     | \$1,500.00   | \$630.00       | \$1,000.00     | \$731.67       |
| 13       | LC200051 | REJECTED LOAD TRANSPORTATION                                            | 5.0      | LOAD  | \$500.00     | \$2,500.00   | \$50.00        | \$980.00       | \$476.67       |



## **Return Bid Details**

**Project:** Washington Street Channel Restoration

**Section:** 16-00110-14-DR

**Description:** Gabion Installation, Erosion Control

**CPMS Pin:** B-01264 **Let Date:** 6/19/2018

|          |          |                                                  |          |       | Eng Estimate |              |                |                |                |
|----------|----------|--------------------------------------------------|----------|-------|--------------|--------------|----------------|----------------|----------------|
| Item No. | Pay Code | Description                                      | Quantity | Unit  | Unit Price   | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
| 14       | LC200501 | MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS | 1,145.0  | UNIT  | \$1.00       | \$1,145.00   | \$1.00         | \$1.00         | \$1.00         |
| 15       | LC200511 | VEGETATED CONCRETE EROSION CONTROL MAT           | 1,427.0  | SQ FT | \$10.00      | \$14,270.00  | \$10.00        | \$50.00        | \$23.50        |
| 16       | X0426200 | DEWATERING                                       | 1.0      | L SUM | \$15,000.00  | \$15,000.00  | \$3,000.00     | \$25,000.00    | \$10,764.17    |
| 17       | X2840105 | GABION REMOVAL                                   | 8.0      | CU YD | \$250.00     | \$2,000.00   | \$50.00        | \$400.00       | \$176.67       |
| 18       | X7010216 | TRAFFIC CONTROL AND PROTECTION, (SPECIAL)        | 1.0      | L SUM | \$6,253.52   | \$6,253.52   | \$2,500.00     | \$45,500.00    | \$19,916.67    |
| 19       | XX006343 | SEEDING (COMPLETE)                               | 229.0    | SQ YD | \$25.00      | \$5,725.00   | \$5.00         | \$30.00        | \$16.45        |
| 20       | Z0055905 | TEMPORARY CONSTRUCTION FENCE                     | 110.0    | FOOT  | \$3.50       | \$385.00     | \$3.00         | \$7.50         | \$5.96         |
|          |          | Bid Total                                        |          |       | \$320,028.52 |              |                |                |                |